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FOREWORD

The Zanzibar Examinations Council is pleased to present this report on ltems Response
Analysis for the 2023 Form Three Entrance Examination in English subject. This
report has been prepared in order to provide a feedback to students, teachers, parents,
policy makers, curriculum developers and other educational stakeholders about the
performance of the candidates in this subject.

The Form Three Entrance Examination is the evaluation which intends to measure to
what the extent the candidates have learnt in their two years of Ordinary Secondary
Education. Through examination results, the candidates receive a grade that indicates
their level of performance which help to make decisions whether they may continue to
another level of education or not.

The analysis presented in this report is intended to contribute towards
understanding of possible reasons behind the candidates’ responses in English
language subject. The report shows some of the reasons that made the candidates
whether to perform well or bad.

The possible factors that lead the candidates get good performance include identification
of the demand of the questions, ability to follow instructions and possessed skills in
computation as well as English language proficiency. The factors that may evidence the
candidates to perform bad include misinterpretation of the questions, poor mastery of
English language, lack of various skills such as transferring knowledge in answering
questions, low ability in identifying the demands of the questions as well as inadequate
knowledge of some of the topics.

The detailed analysis displays that, samples from the candidates’ scripts that show poor
and good responses have been inserted. Finally, various Tables with three different
colours which reveals how individual question were performed have been attached.

Hence, the feedback and recommendations provided are intended to help stakeholders
to take appropriate measure to enhance the performance of the future candidates in
English subject through the National Examinations prepared in Zanzibar.

Finally, Zanzibar Examinations Council would like to express sincere appreciation to
the Examination officers and all who participated in the completion of this report.

Dr. RASHID A. MUKKI

DIRECTOR
ZANZIBAR EXAMINATIONS COUNCIL
ZANZIBAR
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1.0INTRODUCTION

This report of English subject is based on analysis of the performance of the candidates
who sat for Form Three Entrance Examination in 2023. The examination paper both
covered the 2010 English Language syllabus adhered adhered to 2015 Zanzibar Form
Two Examination Format of Zanzibar Examinations Council.

Form Three Entrance Examination in English language subject focused on testing the
candidates’ competences in Comprehension, Patterns and Vocabulary, Writing skills
and Literary work. The Examination had ten questions distributed in sections A, B, C
and D. The candidates were required to answer all questions in section A and B whereas
section C had three questions whereby the candidates were instructed to choose two
questions and section D comprised four questions and the candidates were instructed to
attempt three questions. The candidates were required to answer a total of 8 questions
whereby the question 7 was compulsory.

2.0 SAMPLED CANDIDATES

The numbers of candidates who have been analyzed were 3,977 equal t016.93 % to
all candidates (23,495) who sat for this paper. In this analysis, the candidates’ scores
for each question was interpreted as follows: from 00 to 29 percent was considered as
poor, average if the scores ranged from 30 to 64 percent and good if the candidates’
score were from 65 to 100 percent.

These performance are shown by using different coloured tables. The colour presented
are green colour means good performance, yellow colour means average performance
and red colour means for poor performance.

3.0 ANALYSIS OF THE CANDIDATES’ PERFOMANCE PER QUESTION

This section identifies the questions set for candidates in sections A, B, C and D. Also it
identifies the percentage of candidates who attempted the questions with those who got
poor, average and good marks. Finally, the extracts of poor and good responses have
been inserted.

3.1 SECTION A: COMPEHENSION

This section consisted of two questions, one (1) and two (2) which derived from the
topic or reading for comprehension. The candidate was required to answer all questions
in this question. Question one comprised three parts; a, b and c. each part carried five (5)
marks to form a total of fifteen (15) and the second question carried 5 marks. Therefore
the total marks in this section was twenty (20).

3.1.1 Question 1: Comprehension

This question derived from the topic of reading for comprehension where the candidate
was required to read a passage and answer questions. Part a was multiple choice items
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where the candidate was required to choose the correct answer from the given alternative
and write its letter in the bracket. In part b the candidate was required to choose the
appropriate words from the box to fill in the blanks and in part ¢ the candidate was
required to write the synonyms of the underlined words from the passage.

The question measured candidate’s understanding of the passage given. It was attempted
by 100.00 percent of the candidates and their performance were average since 16 equal
to 40.86 percent out of 3,977

passed the question. The analysis showed 2,352 candidates equal to 59.14 percent
performed poor, 1,485 equal to 37.34 performed average and 140 equal to 3.52
performed well. Table 1a shows the candidates’ performance in question one (1).

Table 1la: Candidates’ Performance in Question 1

PERFORMANCE ANALYSIS GENERAL
PERFOMANCE
AVERAGE
3-6
NUMBER % NUMBER %
1,485 37.34 1,625 40.86

Question 1a: Multiple Choice Questions

In this part, the candidates were required to read the passage and choose the correct
answer from the given alternatives and write its letter in the bracket. The question was
made up five (5) items. The analysis of candidates’ responses shows that candidates
who scored high marks in this part understood the passage and managed to respond
the items correctly. These responses showed that the candidates mastered the English
language skills of their level hence they understood well the given passage.

Item (i) was “The number of the road users who are killed in road accidents becomes
bog in”, the correct answer was “C” (festive days). The candidate who understood
the passage very well managed to choose the correct answer while those who did not
understand the passage failed to choose the correct answer.

Item (i) read “According to the passage the festive days become the”, the answer
was “D” (tragedy season). Some candidate who had good knowledge of reading for
comprehension managed to pick up the correct answer. On other hand, some candidates
showed to have low knowledge of understanding the passage did not manage to choose
the appropriate letter.

Item (i) was “Underage children involved I n road accident since”, the correct response
was “D” (they speed in around on overloaded motorcycles). This answer was picked
by the candidates who understood the passage and the item. However, some candidates
failed to respond to this item correctly due to poor understanding of the passage.




Item (iv) was “Road accidents can be caused by”, the right answer was “D” (all of
above). The candidates who understood the passage and the item got it right while
some candidates failed to respond to this item correctly due to poor understanding of

the passage.
Item (v) was “The incident of the road accident can be worsen if’, the answer was
“C” (the road users persist with their bad road habits). The candidates who responded

correctly understood well the passage and the need of the item while those who
responded incorrectly did not understand and failed to identify the item’s need.

Generally, the candidates who understood the passage did well and scored high marks
in this part as it was shown in the extract 1a.1. On the other hand, those who scored
poorly indicated that they did not understand the passage due to poor mastery of English
language. Ttherefore they failed to meet the question’s needs as shown in the extract

1la.2
Extract 1a.1: ASample of Good Responses in Question 1a

Extract 1a.1: A Sample of Good Responses in Question 1a

Reaa the following passage and answer the guestions that follow

Every vyear thousands of road users are injured, hurt for life or killed i re

accidaents Whike it Is bad encugh on ordinary days, the accdent rate NCIreassd
during festive seasons when crowds of peopie park the roads in their rush to ©
Rome For families involved in accidents, the festive season can turn out to he

tragedy Instead of jov

The causes of accdents are many, but mainly the are du€e o thhe human errai

SSNess, negligence, excessive spe=din g Jnnkong alcohol, breaking ¢
raffic ruies and overicading contribute to the occurrers o ent. Go to ar
housing estates ] . —<2i See unaerage children speeding around a
motor Hes They do not wear safety heimets and sometimes there are three ¢
! i ] them on a2 motorcycle which is built for two. The lavws are deliberate]
ignared and the adults are to be blamed for allowing these young children to ris
their lives, Mechanical problems and road conditions can also cause accidents, fc

example brake Faliure, tyre blowout, bad weather, pothaoles and traffic congestion

The prevention of road accidents depends largely on the atttude of road users
They must respect the traffic laws such as keeping within speed limit, using safet

heimets and belts and keep g their véehicles in road worthy condition They mus

Practice safe driving skills. There should be more awarenes

also acqquire and
campaign aimed at inculcating good driving habits, when road users ensure thed
vehicles are roadworthy réespect the law and think about their safety and of others
then the number of facilities can ¢
iIn short, a change of attitude (o road users, as lang a
they persist with their present bad road habits, the Incgeace of the road accigceny

can only worset




Questions
1 a) Onoose the correct answer from the given altermatives and write its letter in
the brackets.
I. The number of the road users who are killed in road accidents becomes
vag in «C >
A. esch day
8. each year
C. festive days
D. ordinary days
. According to the passage the festive days become the « D)
A, funny season
B. happy season
C. jJoy sseason
D. tragedy season
Hi. Underage children involved in road accident since { D )
A. they are under the adult who masbehave
B. they did not obey their parents
C. they have poor drinking skills
D. they speed in around on overicaded motorcycies

. all of above

:

Incidence of the road accddent can be worsened i ()
A. road users change their attitude

B. the road users respect the traffic laws

C. the road users persist with their bad road habits

D. underage children start to wear helimets

Extract 1a.1 shows a sample of the script of the candidate who provided the correct
answers. Such answers indicated that the candidate read and understood the passage.
So he/she responded as instructed and scored high marks in this part of question one

).




Extract 1a.2: ASample of Poor Responses in Question 1la

Questions
1. a) Ohoose the correct answer from the given alternatives and write iIts letter In
the vrackets.
i. The number of the road users who are killed in road accidents becomes
big In ¢ C )
A. each day
B. each year
C. festive cays
D. ordinary days
. According to the passage the festive days become the « D )
A. funny season
B. happy saason
C. joy ssason
D. tragedy season

Hi. Underage children involved in road accident since {-D)
A. they are under the adult wiho mishehave
B. they dd not obey their parents
C. they have poor drinking skilis
D. they speed in around on overicaded motorcycies

v. Road accidents can be caused by 43 > 30>
A. mechanical problems
8. poor road conditions
C. road users
O. ah of above

v. The incidence of the road accident can be worsened ¥ =)
A. road users change their attitude
B. the road users respect the traffic laws
C. the road users persist with their bad road habits
D. underage children start to wear haeimets

Extract 1a.2 shows a sample of bad responses from the script of the candidate. Such
responses indicate that the candidate did not understand the passage therefore; he /she
did not manage to write the correct letters in their particular brackets. For example, the
appropriate letter in item one (i) was “C” but the candidate wrote “D” which was not
the correct one.

Question 1b: Filling in the Blanks

In this part, the candidates were given the paragraph with five (5) blanks. The paragraph
was related to the passage they read and the candidate was required to choose the correct
words from the box to fill in the blanks. The analysis of candidates’ responses shows
that candidates who scored high marks in this part understood well the passage and
the meaning of the words given in the box and managed to put them in the appropriate
spaces.




The paragraph was “Mechanic problem such as and road
condition like can increase the number of road accidents.
To prevent road accidents, road users should traffic law
as well as children should avoid speeding with in the road.
Also is needed especially at good driving habits so as to be
safe”. The answers were ‘brake failure, potholes, respect, motorbikes and awareness
campaign respectively’. Those candidates who responded correctly understood the
item and managed to identify the correct word. On the other side, some candidates did
not understand the meaning of the sentence and failed to choose the correct word.

Extract 1b.1: ASample of Good Responses in Question 1b

b) O\oosemeappmwmwdmmeboxwmtommmem.

1

" awareness campaign, potholes, motorbikes, respect, brake failure
|

k-urlnkmmas hdw%m and road condition like
cmmaeasethemmbetofmadaoddents. To
prevent road accidents, road users should espect

waffic law as well as chidren should avoid speeding with
metorbdkes in the road, Also Quorencd Ompaighn _ is

mwatgooddrmmbnssoasmbesafe.

Extract 1b.1 shows a sample of good responses from the script of the candidate. Such
answers indicate that the candidate read and understood the passage therefore, identified
the proper words to fill in the blanks.

Extract 1b.2: A Sample of Bad Responses in Question 1b

b) Choose the appropriate word from the box below to fill in the blanks

awareness campaign, potholes, motorbikes, respect, brake failure

-

‘Mechamc problems such as -~ dats Sq- and road condition like

wr kg €as L can increase the number of road accidents. To

prevent road accidents, road users should reoleyr b Ko o

traffic law as well as chidren should avoid speeding with
wape Gk In the road. AlSO o wor . o 55 is

\ )
needed especially at good driving habits so as to be safe.




Extract 1b.2 shows a sample of bad responses from the script of the candidate. Such
responses indicate that the candidate did not understand the meaning of the given words
therefore; he /she did not manage to write the words in their particular blanks. For
example, the appropriate word in item one (i) was “brake failure” but the candidate
wrote ‘campaign”. Again, in item two (i) the candidate put the word “brake failure”
while the correct one was “potholes”.

Question 1c: Write the synonyms of the underlined words from the passage.

In this part the candidate was required to write the synonyms of the underlined words
from the passage which were increase, contribute, deliberately, reduce and required.
The candidates who scored high marks in this part comprehended the meaning of the
underlined words from the passage and were able to write correct synonyms of the
words given as shown in extract 1c.1. However, some candidates failed to understand
the meaning of the underlined words and therefore failed to write correct synonyms of
the words as shows in extract 1c.2.

Extract 1c.1: ASample of Good Responses in Question 1c

C) Write the synonyms of the underiined words from the passage

e OIARLERILLID TLircSy -
B S ST ST TR reit LLAync

Bw FATS S ESFSL ARV A L o i

» L 08¢ 5 Yo ~pe '
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Extract 1c.1 shows a sample of good responses from the script of the candidate.
Such responses indicate that the candidate understood the underline words and their
synonyms although he/she made some mistake i the word “contribute”.

Extract 1c.2: ASample of Bad Responses in Question 1c
c) Write the synonyms of the underlined words from the passage.,
JNo e oo s ¢ =

Extract 1c.2 shows a sample of bad responses from the script of the candidate. Such
responses indicate that the candidate did not understand the synonyms of the underlined
words and therefore came up with wrong answers.




3.1.2 Question 2: Summary

This question required the candidates to summarize the second paragraph of the passage
about twenty five (25) words. The question tested the candidates’ ability of reading,
finding main ideas and summarizing the paragraph. The question was in the level of
analysing and synthesising. It was derived from the topic of Reading for Comprehension
and carried five (5) marks.

The question was attempted by 3,481 which was equal to 87.53 percent of the candidates
and their performance were generally Average, as 1,473 equal to 42.32 percent out
of 3,481 equal to 87.53 percent of the candidates passed the question. The analysis
shows that 2008 which was equal to 57.68 percent performed poor, 1,083 equal to
31.11 percent performed average and 390 equal to 11.21 percent performed good. Table
1b shows the general performance in question 2.

Table 1b: Candidates’ performance in question 2

PERFORMANCE ANALYSIS
PUERAEE GENERAL PERFO-
3-6 MANCE
NUMBER | % NUMBER %
1,083 31.11 1,473 42.32

The analysis of the candidates’ responses shows that the candidate who performed
well mastered summary writing skills which were reading the paragraph, analysing
the main ideas and rewrite the summary of a paragraph using their own words. On the
other hand, the candidates who performed poor had insufficient knowledge of summary
writing and some of them had poor understanding of the English language as indicated
in extract 2.1a and 2.1b respectively.

Extract 2.1 a: ASample of Good Responses in Question 2
2. \vnteaswﬂmafyofabommﬁve(ZS)wordso(meseamdmph.

Aciidont mary be  uoed by human  erae  smechianic)
¢ j : ¢ e ! for alley

wg,_underage. Choldren ath méocycle and__cause

road  oacdodendks.

Extract 2.1a shows a sample of good response from the script of the candidate who
scored high marks in question two (2) since he/she managed to write the summary of
second paragraph by considering the rules of summary writing although there was some
mistakes on punctuations whereby the candidate wrote the summary as one sentence
without using full stops appropriately.




Extract 2.1b: A Sample of Bad Responses in Question 2

2. Write a summary of about twenty five (25) words of the second paragraph

Extract 2.1b shows a sample of poor response from a script of the candidate who
performed poorly in question 2. The candidate showed limited skills of summary
writing therefore he/she did not follow the steps of summary writing which was reading
the paragraph and come up with main aides and re-write the paragraph by using his/her
own words. The candidate also instead of summarizing the second paragraph he/she
copied some sentences from the paragraph one.

3.2 SECTION B: PATTERNS AND VOCABULARY

This section consisted of one (1) question which consisted of five (5) parts; a, b, c,
d and e. Each part carried six (6) marks that made a total of thirty (30) marks. The
question was designed to test the candidate ability to apply different language patterns
and vocabulary in different communicative situations. It was attempted by 3,970 equal
to 99.82 percent of the candidates and their performance were average since 1,310 equal
to 33.00 percent of the candidate out of the 3,970 passed this question. The analysis of
this question shows that, 2,660 equal to 67.00 of the candidates performed poor, while
1,188 equal to 29.93 percent performed average and 122 equal to 3.07 performed well.
Table 2a shows the candidates’ performance in question 3.

Table 2a: Candidates’ Performance in Question 3

PERFORMANCE ANALYSIS

AVERAGE GENERAL
PERFOMANCE
3-6
NUMBER % NUMBER %
1,188 29.93 1,310 33.00

3.2.1 Question 3a: preposition.

In this part the candidate was given six (6) sentences with blanks and asked to choose
appropriate preposition from the brackets to fill the blanks.

The analysis shows that candidates who scored high marks in this part understood the
instruction and the appropriate uses of the preposition given. Therefore, they managed
to choose correct preposition for each sentence as they were required. For those who
performed poorly in this part did not understand the instruction and possessed low
knowledge of uses of the preposition given.

9



In item (i) was “I wake up early the morning”. The correct preposition
was “in.” The candidates who responded correctly showed good understanding of the
preposition and managed to write the correct answer. On the other side, some candidates
failed to come up with correct answer due to poor understanding of preposition and its
uses.

Item (ii) was “She has joined this team last year”, the correct answer
was “since.” Some candidates who had enough knowledge of this preposition managed
to use it appropriately but others failed to come up with the appropriate answer since
they had not enough knowledge on preposition.

Item (iii) was “T will tell you the whole story night “The correct answer
was “at”. The candidate who have good understanding answer correctly. Yet, for those
who failed to answer correctly lacked such kind of knowledge.

Item (iv) was “The team will have a competition January”. Some
candidates understood the item and managed to answer it appropriately. On the other
side, some candidates failed to answer appropriately due to poor understanding of the
preposition.

Item (v) was “1 have been waiting three days.” The answer was
“for.” The candidate who understood well this preposition manage to choose it
correctly. However, for those who failed to write the correct answer lacked such kind
of knowledge since they could not use the preposition in right way.

In item (vi) the sentence was “The guest of honor will arrive 10
o’clock”. The correct answer was “at.” The candidates who responded correctly
understood the question and managed to answer appropriately but some candidates to
poor understanding of the uses of this preposition could not answer correctly.

Generally, the candidates who understood the instruction and items did well and scored
high marks in this part as shown in the extract 3a.1. Yet, those who scored poorly
indicated that they did not understand the instruction and the need of the items, therefore
they failed to meet the question’s needs as shown in the extract 3a.2

Extract 3a.1: A Sample of Good Response in Question 3a

3 a) Choose the appropriate preposboop from the brackets to fill the blanks, One
preposition can be used more than one time,
( n, for, since, at )
I I wake up early o the moming.
i She has joined this team S.n‘Y.E. last year
I, | will tedl you the whole story g mght.
v The team will have a competition .\n January,
v [ have béen walting ‘f;r theee days.,
vi.  The questof honor will arrive Q% 10 o'dock.

10



Extract 3a.1 show a sample of a script of candidate who performed well in question 3a.
This candidate chose the prepositions as required.

Extract 3a.2: ASample of Bad Responses in Question 3a

3. a) Choose the appropriate preposition from the brackets to fill the blanks. One
preposition can be used more than one time.

vi

( In, for, since, at )
lwakeupearfy_@r the moming.
She has joined this team _ Sun(Z  last year.
1 will tell you the whoie story SSnce  night.
Thetaamwlllhaveacomoetkbng%krmaty‘
I have been walting ?QQ three days.,
The guest of honor will arrive __S.ale 10 o'dock.

Extract 3a.2 shows a sample of a script of candidate who performed poor in
question 3a. This candidate did not choose the Preposition appropriately and therefore
got wrong answer in each item.

3.2.2 Question 3b: Uses of Dictionary

In this part, the candidates were given a Dictionary Extract and they were required to
use examples from the Extract to identify six (6) uses of a Dictionary. The question was
in level of analysing and evaluating.

The analysis shows that candidates who scored high marks in this part understood the
instruction and had high Knowledge of the topic of Dictionary uses. For those who
performed poor showed that they did not master the topic and therefore did not manage
to come up with correct answers as shown in the extract 3b.2

11



b)

Extract 3b.1: ASample of Good Responses in Question 3b

Use exampies from the Dictionary Extract below to identify six (6) uses

of a Dictionary.
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o eyt ol g >

?”-.—-‘.“’-m. Eiage ~ e

Seeh 4 cfeema 2 1yDe win i hagh - omicsse Spamish

arat e rs M-~_ﬁn—=:_‘-
M”&“-ﬂ-wﬂ -—._.-_-——_-—.“ o plasssie or
— CEREVATIY ES dhogploess v — OMICIM CoMned by Lawis Carvall - Threweh
CINOPS sl ramen riormsl & PETYOR L Or aTdmal’s et ek, g -

MOUth, Javes, of Cheeks. Snd aemes.

- LU L
Chvoral aljective retating L6 OF Sung By 3 chotr o

— PERIVAYIVES chosally st
© mensm 3 mphe. sTately Rywm tane L0 &
chorus.

vescE Do not contere chard with caed
Chord reasns ‘& growp of mesusal notes” Lan £
{ -y &dﬁotd’m
e i
;_p..-....’::-w“

wPrcrr el sumean & ALraegivt |na o the ends of

anarc.
— PIRASES

el

- 2y o d

Cor
ot e

e -
- mmrcos o later speliing of cmae
Chordate /o dayl) sess 20 aninul of a2 Lags
Eu lading all il vestobeates which
2 shetetal rod of cart dage Spporing the

' wers CompOse
moves for 2 balket Or

cMrn,-‘h-rMQ-Mf-n
o des A Viepa and moN eTN e A
» Ballet or

«ho T g Tubh ) s T he
Sesjacrs € steps and movernents W e halles
Or cther Sarw e 2 (e st of designing such
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- froem Can
copstiws

el "

CEVOLAES s (30 ChOruses ) | 3 past of & Song

wehich i repeated after each ver e 2 & peecw of

rad iy ceve part o
-’---_... A 8 barge Srowp of sngers
- N - pe o
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i Csed & jﬁm_@ﬁs;q._mdx =
h"“a.pl‘

Extract 3b.1 shows a sample of a script of the candidate who performed well in
question 3b. This candidate identified six uses of a Dictionary and used examples from
the Dictionary as it was required and therefore managed to score high marks.
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Extract 3b.2: ASample of Poor Responses in Question 3b

Extract 3b.2 shows a sample of a script of the candidate who did not perform well
in question 3b. This candidate did not show the uses of a dictionary and did not find
examples from the Dictionary Extract given. This indicates that the candidate had
inadequate knowledge of this topic as well as poor mastering of English language.

3.2.3 Question 3c: Rules used to form Plural Nouns

In this part, the candidate was required to show six (6) rules used to form Plural Nouns.
The item measured the candidate’s ability in grammar, in specific the rules of making
Plural Nouns. The question was in the level of applying and analysing. The analysis
shows that candidates who scored high marks in this part understood the instruction
and mastered the rules of forming plural nouns. Therefore they managed to come with
the rules they asked with appropriate examples as shown in the extract 3b.1. However,
those who performed poor in this part seemed that they did not understand the instruction
and had inadequate knowledge of the topic therefore, they failed to meet the question’s
requirements as shown in the extract 3c.1.
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Extract 3c.1: A Sample of Good Responses in Question 3c

) With examples, show six (6) rules used to form Plural Nouns. Number one (1)
is used as an example.
L Add.stoSdngutarNounsendingwnhs.x,z.ch.shondo
For examples
Box Doxes
Brush brushes
Potato potatoes
" A& - 1o uxYU' C’;‘% n_ @, T
for example
Cor (asrs
_lare Lones -
i %4':@( ic @S el’d\‘_? {A’
Baby  Bobiers
Noftey  \kdhes
Sy Erer
. &;barg W secth U un woods

o
;_Iﬁ £rvers
leof [eaves s
. M' n t'gib nount eutth &
eg: Maon Men
e _omen

O

_&Q_‘L'LMMM
lengege  For  excmple s
= forrmyda  Forpube

wil. - £ ‘-’Q Gtﬂ!tibﬂ
Chebiren
fersny Bt

Extract 3c.1 shows a sample of a script of the candidate who performed well in
question 3c. This candidate responded all of the six (6) items of this part correctly.
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Extract 3c.2: A Sample of Poor Responses in Question 3¢

wWith exampies, show six (6) rules psad to form Piural Nogns. Number one (1)

s used as an exampie
ASd es to Singular Nouns ending with s, x, 2, O, sh and O
For exampiles
Box DOxes
Srush Drushes
Potato potatoes

t’; .;.\: (}~ =< )“J—,‘ . il S

s Se=kes — .
“g; X N - \,\l\.ﬁz = . e
Peemy TFerooces

Extract 3c.2 shows a sample of a script of the candidate who did not perform well in
question 3c. This candidate did not have the knowledge of the topic tested and failed to
come with correct answers in all items. For example in item (i) the candidate copied an
example and made his/her answer and for the rest items did not answer at all.

3.2.4 Question 3d: Question tags

In this part the candidate was required to write the question tags for the sentences they
had been given. The question had six (6) items of different sentences in different tenses.
The tenses included simple present, past tense and past progressive tense. The question
measured the candidate’s understanding and ability to apply his/her knowledge of
question tags to the given sentences. The analysis shows that candidates who scored
high marks in this part understood the instruction and had good knowledge of Question
tags However, those who performed poor in this part, indicates that they did not
understand the instruction and had inadequate knowledge of question tags.

Item (i) was “I am innocent, ” The correct answer was “Aren’t 1?”
The candidates who had enough knowledge of Question tag, managed to come with
the correct answer. Yet, those who responded wrongly showed that they lacked the
knowledge of this Question tag and therefore they failed to come up with the correct
answer.

Item (ii) was “It might rain today, .” The correct answer was
mightn’t it? The candidates who had good understanding of the rules of question
tags wrote the appropriate question tag as they knew if the sentence is positive, the
question tag will be negative. However some candidates did not have this knowledge
and therefore failed to come up with the correct answer.
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In item (iii) was “The girls could do this work, .” The correct response
was “couldn’t they?” The candidates who mastered question tag to come up with the
appropriate answer and those who were poor in the part of English grammar failed to
write the correct answer.

In item (iv) was “Asha and Shaibu enjoyed the movie, .” The correct
question tag was “Didn’t they?” Some candidates showed good understanding of the
question tag and managed to write their answer correctly. On the other hand those who
failed to write the correct response had inadequate knowledge of such content and
therefore they did not write the correct answer.

Item (v) was “They weren’t listening .” The correct answer was
“were they?” Those who got right, understood question tag and managed to write the
appropriate question while those who failed to write the correct response showed that
they lacked ability of the content tested.

Item (vi) was “She isn’t a mathematician, .” The correct response was
“Is she?” The candidates who responded correctly understood the mstruction and had
enough knowledge of the topic of Question tag while those who failed to write the
correct answer had inadequate knowledge of this topic.

Generally, the candidates who understood the instruction and had adequate knowledge
of tenses did well and scored high marks in this part as shown in the extract 3d.1. Yet,
those who scored poorly indicate that they did not understand the instruction and they
had poor knowledge of the topic tested. Therefore, they failed to meet the question’s
requirements as shown in the extract 3d.1.

Extract 3d.1: ASample of Good Responses in Question 3d

4\
Q)

Write the correct question tags for the following sentences

(N I am innocent,

i, Tt might rain t
i, The girls could do this v
Asha and Shaibu enjoyed : -

™ A - 'Y iehban
=Y weren SLeEmNg

She isn't a mathematican

Extract 3d.1 shows a sample of a script of the candidate who performed well in question
3d. This candidate seemed to have good idea of the topic of question tags so he/she
tried to come up with the correct answers. Although he/she made some mistakes in
tems 1 and ii. In these items the candidate wrote could not instead of couldn’t.
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Extract 3d.2: ASample of Poor Responses in Question 3d

d) Write the correct question tags for the following sentences,

r

} I am innocent,

il. It might rain today, th (& P

iii. The girls could do this work, _'I_r.'_‘-“__‘{‘i.f_','_.

iv. Asha and Shaibu enjoyed the movie, _ St ’ —
v. They weren't listening, j" - ! “ig. ? N

vi. She Isnt a mathematician, ' i Le ¥

Extract 3d.2 shows a sample of a script of the candidate who did not perform well in
question 3d. This candidate seemed to have poor knowledge of the topic tested since
he/she failed to come up with correct responses except for the item vi which she/he
managed to answer correctly.

3.2.5 Question 3e: Daily routines

In this part, the candidate was tested in the topic of Expressing Personal and Group
Routine/Habits conjunction. They were required to use six (6) sentences to write about
his/her daily routines. The question was in the level of analysing and evaluating. The
candidates who scored high marks in this part seemed to understand the instruction and
comprehend the uses of simple present tense to talk about their daily routines as shown
in the extract 3e.1. However, some candidates failed to understand the requirement of
the question and possessed low knowledge of using simple present tense to talk about
their daily routines therefore came up with wrong answers as shown in the extract 3e.1.

Extract 3e.1: ASample of Good Responses in Question 3e

e) Use six (6) sentences to write about your daily routines.

v\ wake N ot Ytwdwe am
. ‘coke _:.? ( ar\  ovess  We
a: —» =

., ANy AT om A ”‘\ yeach ok sclasd\,

Yo weoO K olkor
‘\:?;__ o Pne Na gyrem \:n Yo £ 1:@
v. & RO pwm  uw E Yo :
N\ Xoxo a e 3 \l\l\t&‘ and
— Yome - AAS)
P Y S o e
qe Y % on O e0 g™ ==
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Extract 3e.1 shows a sample of a script of the candidate who performed well in question
3e. This candidate managed to write his/her daily routines as required and she/she used
simple present tense in the sentences. This indicates that the candidate mastered the
topic tested.

Extract 3e.2: A Sample of Poor Responses in Question 3e

e) Use six (6) sentences to write about your daily routines.

i Newy wiwtey weenin abeu-t Lte
\/ \] L1

. \__ ouwn Ty v —Svs&x;\\J ‘aﬁ?e S

v. Sthe BOsug 0«-9:\ o ) ey Q'\:\Jq{}m\ d‘?'ﬂw

v T avde  Gud M A ook le

vii Wio o o He Codlonw /Aa/q/r/ S

2 Jaoana . /

Extract 3e.2 shows a sample of a script of the candidate who did not perform well in
question 3e. This candidate did not understand the question therefore instead of writing
his/ner daily routines he/she wrote something else.

3.3 SECTION C: WRITING SKILLS

This section consisted of three (3) questions; 4, 5 and 6 whereby the candidates were
required to answer two (2) questions. Each question comprised ten (10) marks to form
a total of twenty (20) marks.

3.3.1 Question 4: Apply for Hostel Admission

This question required the candidate to fill the Hostel Admission Form that they were
given. The question was derived from the topic of Writing a Variety of Texts in the
subtopic of filling in the Form and it tested the candidate’s ability of filling the form.
The question was in the level of creating. The question was attempted by 3,081 equal to
77.47 percent and the general performance was good since 2,251 equal to 64.62 percent
of the candidates passed this question. The analysis showed that 830 equal to 26.94
percent of the candidates performed poor, 1,991 equal to 64.62 percent performance was
average and 260 equal to 8.44 percent performed well. Table 3a shows the candidate’s
performance in question four (4).
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Table 3a: Candidates’ Performance in Question 4

PERFORMANCE ANALYSIS

AVERAGE
3-6
NUMBER %
1,991 64.62

The analysis of the candidates’ responses show that the candidate who performed well
mastered The topic of Filling in the form as shown in extract 4.1. On the other hand
the candidates who performed poorly had insufficient knowledge of Filling in the Form
and some of them had poor mastering of the English language as it is show in extract

4.2
Extract 4.1: A Sample of Good Responses in Question 4

Bl Imagine you are n University and YOu want to stay at hostel. Fll the following
form to apply for hostel admession. (Your name is Vumilia Masumbuko Mashaka)

HOSTEL ADMISSION FORM

| To
| The | boutel Wanden

S,

: ummﬁ-m—*w-— Dl G TN A 2w

| ' Name af the sppiscant (e Block Leoas) MM_L}'

| 2 Comarae/ B secy Clases [ Serwruess _nhuu...a.lhm.ng_

] a Fathor's DN —S0aognlagten I
I . Mother's Name : Moo e |
| s Elater ol By - 1 j-—'“x— oo |
I -~ Alcrgy 4o sy Medsctne B Yeu, Thosse sewetson | Nooe :
{ > et - 5 AT O f‘-?: e voui-iow A Maobule N o3I UG 232

| - AdLswas o Comvesgumleree (s ook Leter) 1 { K arce e -\ |
| |
[ Fharee N :__ T SC DV 789 | |
! A Merssscees Addeess DO ]
' ]

MereNe. 1 TVMTC S 2

" Nawve sl AdSrwwn ol Local Crusandiom Choselibhey Ioachaa ko

4 I '
| Phure N s LI L 18 | |
[ 12 O - -t |
| ¥ st Colice o e Rttty M TE T !
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Extract 4.1 shows asample of a script of the candidate who performed well in question
4. This candidate managed to fill in the form appropriately.

Extract 4.2: A Sample of Poor Responses in Question 4

4

[magmne you are in Universty and you want to stay at hostel. Fll the following
form to apoly for hostel admission. (Your name is Vumilia Masumbuko Mashaka)

ta

HOSTEL ADMISSION FORM |

POy Ay, Yy S— 'Xocm I
Fathor's Nasse A

Msthew s Mo »Y"“\"‘—--_‘

Diute of Bhrshy TEEA L WAL YT

Allewgy to sy Modictne i Yoo, Mease mestion A ﬁm’-\d‘
]
| LY Mobdle Na,

Addrens of Covvespondenew (i Block Letier)

LR a ™ 3 y >
Mhore N - e AR o B -

l‘h-_;_-_-v-&l.l-—' %3 L\..; _.ll_Lﬂ
T PP
l'h!',-_N.. ' —
N and Address of Local Cusrdion A D1 usnn

e e C93 3 F 989 3 1%

Sathaw i AL Mty s O e

Local Ceardion

Extract 4.2 shows a sample of a script of the candidate who did not perform well in
question 4. This candidate did not come up with appropriate answers according to
blanks of the form. He/she also did not use the name given in the question instead he/she
used other names. This indicates that the candidate did not understand the instruction
and he/she had poor mastering of English language.

3.3.2 Question 5: Short Dialogue

This question required the candidate to write a dialogue between the shopkeeper and
the customer. She/he was required to use five (5) sentences for the shopkeeper and five
(5) sentences for the customer. The question was derived from the topic of Writing
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and it tested the candidate’s ability to write a dialogue. The question was in the level
of creating whereby the candidate was measured their ability to create a dialogue.
The question was attempted by 2,937 equal to 73.85 percent of the candidates and
their performance was good as 1,963 equal to 66.84 percent passed this question. The
analysis showed that 974 equal as 33.16 percent of the candidates scored poor, 576
equal to 19.61 percent performed average and 1,387 equal to 47.23 performed well.
Table 3b shows the candidate’s performance in question five (5).

Table 3b: Candidates’ Performance in Question 5

PERFORMANCE ANALYSIS
AVERAGE
3-6

NUMBER %
576 19.61

The analysis of the candidates’ responses show that the candidate who performed
well mastered dialogue writing skills as shown in extract 5.1. On the other hand, the
candidates who performed poorly had insufficient knowledge of dialogue writing skills
and some of them had poor mastering of the English language as it is shown in extract
5.2.
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Extract 5.1: ASample of Good Responses in Question 5

<5 The picture below shows a psrsan who is Buying shoes from the shap.
Prepare 2 smoit diz’ egue Detwesn 1he shopxesper and the caustomer. Use five
(5) sentences for the shopxeeper and fove (5) sentonces “ar the customer.
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Extract 5.1 shows asample of a script of the candidate who performed well in question
5. Although, there are some little grammatical mistake, such “a rubber shoes” nstead
of “a pair of rubber shoes” This candidate managed to write the dialogue between the
shopkeeper and the customer as it was required.

Extract 5.2: A Sample of Poor Responses in Question 5

Extract 5.2 shows a sample of a script of the candidate who did not perform well in
question 5.This candidate instead of writing five (5) sentences for the shopkeeper and
customer he/she wrote understandable phrases This indicated that the candidate did not
understand the instruction and he/she had poor knowledge of dialogue writing skills.

3.3.3 Question 6: Writing a Composition

This question required the candidates to imagine that he/she was the best student in the
previous Form Two trial examination and the school committee awarded him/her one
million (1,000,000) Tsh and then to write a composition of about 150 words, about his/
her plan on how he/she will spent the money. The question was derived from the topic
of Writing a Variety of Texts and Expressing Future Plans/Activities. The question was
in the level of evaluating and creating. The question was attempted by 779 equal to
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19.59 percent of the candidates and their performance were generally average, as 405
equal to 51.99 passed this question. The analysis showed that 374 equal to 48.01 of the
candidates performed poor, 336 equal to 43.13 percent performed average and 69 equal
t0 8.86 performed well. Table 3c shows the candidate’s performance in question six (6).

Table 3c: Candidates’ Performance in Question 6

PERFORMANCE ANALYSIS RALPERFO-
AVERAGE MANCE
3-6

NUMBER %

The analysis of the candidates’ responses shows that the candidate who performed well
mastered composition and plan writing skills as shown in extract 6.1. On the other
hand, the candidates who performed poor had insufficient skills of composition and
plan writing and some of them had poor mastering of the English language as show in
extract 6.2.

Extract 6.1: A Sample of Good Responses in Question 6

(= [IMmaegires yiou wherns e DSt siudient in the prewious Form beeo trial escarmimaiiom
and thwe school commiittes aevarded you ore millions {1000 000 Tsh. Write a
oomposition abowut pour plian on hows pou will spend e money. (Uise abour 150
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Extract 6.1 shows asample of a script of the candidate who performed well in question
6. This candidate managed to write a composition about his/her plan on how he/she will
spend the money that he/she got an award. The candidate realised that he/she writes
a plan, therefore he/she used future time in his/her composition although some small
errors can be observed.

Extract 6.2: A Sample of Poor Responses in Question 6

=] Imagine you were the best student In the previous form two trial examiination
ool comumstiese awardsed you one midllion (1,000, 000) Tsh. Wr

BOUt yousr plan on Bhow you will spend the money. (Use about 150

Extract 6.2 shows a sample of a script of the candidate who responded poorly in question
6. This candidate did not manage to consider the requirements of the question; for
example using of 150 words. Also he/she did not know the structure of a composition
and using future tense to write a plan. This indicates that the candidate did not understand
the instruction and his/fher English ability was very low.

3.4 SECTION D: RESPONSE TO THE READING

This section consisted of four questions, 7, 8, 9 and 10. The candidates were required to
answer three questions whereby question 7 was compulsory. Each question comprised
ten (10) marks to form a total of thirty (30) marks.

3.4.1 Question 7: Theory of Literature

This question was compulsory and it had five items. Each item comprised two marks to
form a total of ten (10) marks. It required the candidates to answer the five questions on
the theory of literature. The question was attempted by 3,184 equal to 80.06 percent of
the candidates and their general performance were Poor, as 496 equal to 15.58 percent
of the candidates passed this question. The analysis showed that 2,687 equal to 84.39
percent performed poor, 426 equal to 13.38 performed average and 70 equal 2.20
performed well Table 4a shows the candidates’ performance in question seven (7).
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Table 4a: Candidates’ Performance in Question 7

PERFORMANCE ANALYSIS
AVERAGE
3-6

NUMBER %
427 13.41

The analysis of the candidates’ responses shows that the candidate who performed well
mastered the topic tested which was theory of literature as shown in extract 7.1. On the
other hand, the candidates who performed poor had insufficient knowledge of theory of
literature as it is shown in extract 7.2.

Item (i) intended the candidates to define the term “characterization.” The question
derived from the topic of Interpreting Literary Work. It tested the candidates’ ability to
recall the meaning of “characterisation”. One among the meaning of characterization is
“Characterization is the process of creating imaginary people to perform certain actions
in the work of art. Or It is the process is assigning roles to people used in work of art”.

” Those who had the intended competence of the item tested responded correctly while
some of the candidate failed to respond correctly.

Item (i) was “Who takes the position of character in the poem?” The correct answer
was “A persona or dramatist”. The candidate who responded correctly showed that they
had adequate knowledge of the term tested while those who failed to respond correctly
lacked such kind of knowledge.

In item (iii), the candidate was required to write two (2) examples of personifications.
To answer this question, the candidate was free to come up with any two examples of
personifications. Some examples of personification are; “Silence swallows all people,

Her beauty makes all of us to stare at her.”

The candidates who scored high marks managed to write examples appropriately while
those who had insufficient knowledge on this item failed.

Item (iv) required the candidates to name the tool used to convey message in any
literary work. The correct answers was “Language.” The candidates who scored well
in this item were able to meet the demand of the item due to an adequate knowledge of
the item. Yet, some candidates failed to meet the requirement of the item due to poor
knowledge of theory of literature.

In item (v) the candidates were required to write four (4) elements of the form
of literature. The item tested the candidates’ ability to identify element of form
of literature. Among the correct answers were “Characters, language, plot, setting”.
The candidates who scored well in this item were able to identify element of form of
literature. However, there were some candidates who responded wrongly due to low
ability of this item and theory of literature in general.
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Generally, the candidates who scored high marks were able to meet the demand of the
question by responding to all five (5) items correctly due to adequate knowledge of
literature theory as shown in the extract 7.1. However, those who scored poor indicated
that they had poor knowledge of the theory of literature. Therefore, they failed to meet
the question’s requirements as shown in the extract 7.2.

Extract 7.1: ASample of Good Responses in Question 7

e Answer the following questions.

i Define the term charactenzation.,
o s prosess oy chossing o oA crealbyng sos
ch arackers whho wil b= ploay rols 1 oo
-\_Lt»u-o,r:% o ries

B, Who takes the position of character in the poem?
Po,cormoy  t1 _cu onl whe Saka 4o
peosuiion o Casraitee n Has po-inm

Wi, Write two (2) examples of personification.

-— '\\\Q ‘/\.“)v- <

ALy

— (laa peaca c reake 3‘~‘¢|0M i T2 vhabon

v, Name the tool used to convey message in any literal work.
| - MSQC\%,L .

V. mmr(a)mammdalmm
Chora cier an . Ssbbing ) Plet uw Skqle .

g

“.y) [ qr%mg |- ot el (d,\e.bovﬂ) .

Extract 7.1 shows a sample of a script of the candidate who performed well in question 7.
This sample indicates that the candidate had required knowledge of theory of literature
since he/she managed to answer all of the questions as required.

28



Extract 7.2: A Sample of Poor Responses in Question 7

Answer the following questions
| Define the term characterization

cage | o 1 . - 1 E
e Living e Liviir J= 2 ¥ WANIpa oYt on
B =] o = ;
., wmpkesmeoosﬂmofc\afactum!hepoenﬂ -
~J < 11 -
_Chaoracier inthe po€rm 75 Doedriy
J = :  fm—

J

i Wirite two (2) exampies of personification.

, reelz (S <& £ (e phcelITes
Ptoa 15 . lceregsc
. Narne the tool used to convey message in any literal work -
Dlhemes (iDlesernaii) ¢ DELICE e o
,"7“'":,;’4.?‘“ i 7
v. \ffrite four -:47elms of the form of a literal work. -
K ] 3 St _“__;4_; e Cn) :"quLx_ negage (1537 ) 7T/ ——

Extract 7.2 shows a sample of a script of the candidate who responded poorly in question
7. This candidate seemed to have poor understanding of theory of literature. Therefore,
he/she did not manage to answer the questions as he/she was required.

3.4.2 Question 8: Poetry

This question consisted of five items. Each item comprised two marks to form a total
ten (10) marks. The question derived from the topic of poetry. It required the candidates
to answer the given questions on the theory of poetry. The question was attempted by
1,665 equal to 41.87 percent of the candidates and their performance were generally
Average as 900 equal to 50.05 percent of the candidates pass of this question. The
analysis showed that 965 equal to 57.96 percent of the candidate performed poorly, 591
equal to 35.50 percent performed average and 309 equal to 18.56 percent performed
well. Table 4b shows the candidates’ performance in question eight (8).
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Table 4b: Candidates’ Performance In Question 8

PERFORMANCE ANALYSIS GENERAL PERFO-
AVERAGE MANCE
3-6
NUMBER % NUMBER %
591 35.50 900 54.05

The analysis of the candidates’ responses shows that the candidate who performed well
mastered the topic tested which was poetry as shown in extract 8.1. On the other hand,
the candidates who performed poor had insufficient knowledge of poetry as it is shown
in extract 8.2.

In item (i), the candidates were required to “explain briefly the meaning of open poem.”
The correct answer was “Is the type of poem that does not obey the traditional rules of
composing a poem. For example rhymes and rhythm , equal number of verses in each
stanza ect. The candidates who had enough knowledge of this term managed to define
the term correctly while those who lacked this knowledge failed to answer this question
correctly.

In item (ii), the candidate was required to “Name two (2) types of poetry”.”’The correct
answer was Narrative poetry, reflective poetry, descriptive poetry, lyrical poetry,
sonnet, ballad.” Some candidates managed to write the types appropriately, but those
who did not master the theory of poetry failed to write down the types.

In item (iii), the candidate was needed to “write four (4) examples of themes that can
be obtamned from a poem.” Among the answers were ‘“Poverty, education, customs
and traditions, unemployment, ignorance, struggling for independence uhuru etc.” The
candidates who had adequate knowledge of this term managed to write examples of
themes appropriately, while those who lacked this knowledge failed to come up with
the correct examples.

In item (iv), the candidate was asked “What is a rthyme?”” The answer was “Rhymes are
similar sounds at the end of consecutive verses. They may form a pattern of aa/bb/cc
etc, it depends on the choice of the poet.” The candidate who achieved full marks in this
item showed to have enough knowledge of the definition of rhymes and therefore wrote
the correct answer. On the other hand, there were a number of candidates who totally
failed to meet the demand of the item due to their low ability in this item.

In item (v), the candidate was asked “What are the differences between a stanza and
a verse in the poem?” The answer was “Stanza is a group of verses which look like a
paragraph. It is possible for stanza to be formed by only one verse while verses are lines
in the poem that form a stanza.”

The candidates who performed well in this item showed to possess enough knowledge
in the item tested. On the other hand, there were a number of candidates who totally
failed to meet the demand of the item due to their low ability in the topic of poetry.
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Generally, the candidates who scored high marks managed to respond to all items
correctly this is because they mastered the topic of theory of poetry as shown in extract
8.1. However, some candidates failed to come up with the right answers due to their
poor mastering of the topic mentioned as shown in the extract 8.2.

Extract 8.1: ASample of Good Responses in Question 8
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Extract 8.1 shows asample of a script of the candidate who performed well in question
8. This sample indicates that the candidate had required knowledge of the concepts of

poetry since he/she managed to respond to all items from ito v as required.

Extract 8.2: A Sample of Poor Responses in Question 8

8. Answer the following questions.
L Briefly expilain the meaning of open poem. ~
oo Ve a adkdtie o Coaposidien

Yede = N o se and ' Y ucioad
< cun

Extract 8.2 shows a sample of a script of the candidate who responded poorly in question
8. This candidate seemed to have poor understanding of theory of poetry, therefor he/
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she did not manage to respond to all the items correctly. For example in item (i), he/she
asked to explain the meaning of open poem and tried to explain the meaning of a poem
but she/he left the rest of the item not answered.

3.4.3 Question 9: Responding to the Poem

In this question, the candidates were required to read the poem given and responded on
five (5) items, each item comprised two (2) marks to form a total ten (10) marks. The
question tested the candidates’ ability of analysing poems. The question was attempted
by 2,421 equal to 60.88 percent of the candidates and their performance were generally
poor since 336 equal to 13.88 percent of the candidates passed this question. The
analysis showed 2,085 equal to 86.12 percent of the candidates performed poor, 325
equal to 13.42 percent performed average and 11 equal to 0.45 percent performed well.
Table 4c shows the candidates’ performance in question nine (9).

Table 4c: Candidates’ Performance in Question 9

PERFORMANCE ANALYSIS
AVERAGE
3-6
NUMBER %
325 13.43 |

The analysis of the candidates’ responses shows that the candidates who performed
well in this question were able to respond correctly to all items of question nine (9)
which was analysing poems as shown in extract 9.1. On the other hand, the candidates
who performed poor seemed to have insufficient knowledge of interpreting poem as it
is shown in extract 9.2.

In item one (i), the candidate was asked “What is the poem about.” The answer was
“The poem is about the importance of Books.” The item tested the candidates’ ability
to comprehend and analyse the poem so as to understand what is the poem about. The
candidates who scored high marks in this item comprehended the poem and those who
failed, lacked the ability of comprehending and analysing the poems.

Item (i) intended the candidate to write “the importance of books mentioned in the
sixth verse.” The answer was “The book can make my career.” For those who scored
high marks were able to use their knowledge of interpreting poems and achieved to
identify the importance of books mentioned in sixth verse correctly. While some of the
candidates scored low marks due to poor understanding of what they were asked.

tem (i) required the candidate was asked “The poet uses the word “coz’ nstead of
“because”, what do we call this situation in the field of poetry?” The answer was “This
is called Poetic license where the poet is allowed to violate language rules.”The item
tested the candidate’s understanding of the meaning of poetic licence. Some candidates
showed that they had some knowledge of what was tested but some of them seemed to
have low knowledge, hence they responded wrongly.
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In item (iv), the candidate was asked “How many stanzas are there in this poem?”” The
correct answer was “One stanza.” The item tested the candidates’ ability to interpret
poems. The candidates who comprehended and had ability of interpreting poems,
performed well. However, some candidates did not realise the item’s need so they
responded wrongly.

Item (v) asked the candidate to “write one (1) example of personification which is
used in the poem.” Some of the correct answer were “Books can make your career;
Books always lead to a right way.”  The candidates who were able to comprehend
and interpret poems answered the item as it was required and scored high marks while
those who had insufficient about interpreting poem failed to meet the demand of the
question’s item.

Generally, the candidates who scored high marks had adequate knowledge and clear
understanding on interpreting poems as shown in extract 9.1. However, some candidates
failed to respond to the items due to low knowledge and ability of interpreting poems
as shown in the extract 9.2

Extract 9.1: ASample of Good Responses in Question 9

L What is the poem about?
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Extract 9.1 shows asample of a script of the candidate who performed well in question
9. This sample indicates that the candidate had good understanding of poem analysis
therefore, he/she managed to score high marks in this question. Although, he/she made
some mistake in item iv, where he/she wrote that, “there are seven stanzas in this
poem” while the correct answer was “There is one stanza in this poem.”

Extract 9.2: A Sample of Poor Responses in Question 9

i What is the poem about?
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iv. How many stanzas are there in this poem?
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Extract 9.2 shows a sample of a script of the candidate who responded poorly in question
9. This candidate seemed to have poor understanding of analysing poems, therefore he/

she did not manage to respond to all the items in question nine (9) correctly.
3.4.4 Question 10: Class Readers

This question was formed with five items (v). Each item comprised two (2) marks to
form a total ten (10) marks. The question was derived from the topic of interpreting
literary work. The question measured the candidate’s ability to analyse and evaluate
literary work. It required the candidate to answer the questions related to one of the
class readers they read.
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There were seven (7) class readers tested and the candidates were supposed to choose
one to answer the questions given. For the purpose of this analysis the class reader
“Mabala the Farmer” written by R.S. Mabala, was chosen as a sample. The question
tested the candidates’ ability to interpret short stories. The question was attempted by
3,162 equal to 79.51 percent of the candidates and their performance were generally
Good as 2,586 equal to 81.78 percent of the candidates passed this question. The analysis
showed that 575 equal to 18.18 percent of the candidates performed poor, 1,476 equal
to 46.68 percent performed average and 1,110 equal to 35.10 percent performed well.
Table 4d shows the candidates’ performance in question ten (10).

Table 4d: Candidates’ Performance In Question 10

PERFORMANCE ANALYSIS GENERAL PERFOMANCE
AVERAGE
3-6
NUMBER %
1,476 46.68

The analysis of the candidates’ responses indicate that the candidates who did well in
this question were able to answer the questions related to class reader appropriately
as shown in extract 10.1. On the other hand some candidates did not perform well
because they had insufficient knowledge of interpreting the class reader given as shown
in extract 10.2.

In item (i), the candidates were required to “write the title of the book.” The correct
answer was ‘“Mabala the farmer.” The item tested the candidates’ ability to identify
the title of the book they read. The candidates who scored high marks in this item
comprehended the question and come up with the correct title. Those who did not
understand the question failed to provide the title.

In item (ii), the candidate was asked “In which year was the book published?” The
correct answer was “1988”. The candidate who managed to respond correctly showed
their ability in analysing the book. However, some candidatt who had not this knowledge
failed to answer the question correctly.

Item (i) required the candidate to “explain briefly two (2) themes portrayed in the
book with examples.” Among the correct answers were “ Hard working, True love,
Poverty, Selfishness, Laziness, Greediness, Advice” The candidate who scored high
marks in this item managed to explain two (2) themes portrayed in the book, while
those who performed poor failed to understand the question.

35



Item (iv) asked the candidate to “choose one (1) character from the book they have
read and explain why they like or dislike hinvher.” The candidate who understood the
questions managed to come up with the correct answer. But some candidates showed
that they did not understand the question and the book, therefore they failed to come up
with the correct answer.

Item (v) needed the candidate to “write short notes on the relevance of the book in
Tanzania society” Some candidates came up with correct answer because they had
enough knowledge of the question and story they read. For those who failed to respond
correctly to the item seemed to have low knowledge of the item tested as well as poor
understanding of the story.

Generally, the candidates who scored high marks showed to have adequate knowledge
and clear understanding on analysing short stories as shown in extract 10.1. However,
some candidates failed to respond to the items due to low knowledge and ability of
analysing books as shown in the extract 10.2.

Extract 10.1: ASample of Good Responses in Question 10
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Extract 10.1 shows a sample of a script of the candidate who performed well in question
10. This sample indicates that the candidate had good understanding of analysing short

stories. Therefore, the candidate scored high marks.

Extract 10.2: ASample of Poor Responses in Question 10
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Extract 10.2 shows a sample of a script of the candidate who responded poor in question

10. This candidate seemed to have poor understanding of analyzing short stories. Also,
it seemed that he/she did not read the books mentioned, therefore he/she used different
books to answer the question instead of choosing one book as it was required.

37



4.0 CONCLUSION

The analysis of the candidates’ performance shows that there were three questions
which were well performed. Five questions had average performance and two questions
had poor performance.

The quality of candidates’ responses was affected by the following reasons: poor
mastery of English language, lack of various skills such as transferring knowledge in
answering questions, low ability in identifying the demands of the questions as well as
inadequate knowledge of some of the topics.

It is expected that the feedback provided in this report will enable teachers, students and
other stakeholders to take appropriate measures to improve the teaching and learning of
English subject in Zanzibar Secondary Schools.

5.0 RECOMMENDATIONS

In order to improve candidates’ performance in the future, it is recommended that:

7/
o0

X/
L X4

Students should be engaged in various practices so as improve their language
skills such as writing, grammar and vocabulary.

Teachers should teach the topics in their scopes in order that the candidates can
be knowledgeable in all areas in details.

Teachers should guide the students on the best way to identify the demand of
the questions and how to respond to those questions effectively.

Teachers should reflect on their teaching learning techniques and teaching
learning material so as to make improvement in their class room instructions.

Students should be encouraged to read varieties of class readers to enable them
to use English grammar correctly.

Students should read text books and reference books related to English topics
represented in the English syllabus.

Parents should help and motivate their children in learning and practising
English language so as to build up their competences.
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APPENDICES

APPENDIX 1

SUMMARY OF CANDIDATES’ PERFORMANCE PER QUESTION AND TOPIC WISE

IN 2023
QUESTION PERCENTAGES
S/N TOPIC OF CANDIDATES | REMARK
NUMBER PER QUESTION
1 Interpreting literary work
2 Filling in the form
3 Writing variety of texts.
4 Interpreting literary work 8 54.05 Awerage
5 Writing variety of texts 6 51.99 Awerage
6 Summary Writing 2 42.32 Awerage
7 Reading for comprehension 1 40.86 Awerage
8 Prepositions, Dictionary use, Number (singular and plural), Question 3 Awerage
tags, Bpressing personaland group routine 33.00
9 Interpreting literary work
10 Interpreting literary work




oy

APPENDIX 2
SUMMARY OF CANDIDATES’ PERFORMANCE PER QUESTION AND TOPIC WISE

IN 2022

QUESTION | PERCENTAGES OF

S/N TOPIC CANDIDATES PER [ REMARK
NUMBER QUESTION
1 Reading for Comprehension
2 Interpreting literary work
3 Writing cards and messages.
4 Interpreting literary work
5 Writing variety of texts. 5 55.58 Awerage
6 Interpreting literary work 7 36.37 Awerage
7 Summary Writing 2 45.34 Awerage
8 Expr.essin.g person.al and group ro,utine_, expressing on going activities, 3 Awerage
Conjunctions, talking about ones’ family, talking about past events. 31.32
9 Writing variety of texts
10 Interpreting literary work




